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There will be constructions on the Geometry EOC.  Below you will find several Geometry EOC style questions.  The question numbers are NOT in order, as the problems were gathered from various sources.  Please chose the correct answer.[image: ] [image: ]
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EOCT Practice Items

1) Consider the construction of the angle bisector shown.

Which could have been the first step in creating this construction?

A. Place the compass point on point 4 and draw an arc inside £Y.

B. Place the compass point on point 3 and draw an arc inside £¥.

C. Place the compass point on vertex ¥ and draw an arc that intersects YX and YZ.
D. Place the compass point on vertex ¥ and draw an arc that intersects point C.

[Key: C]
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2) Consider the beginning of a construction of a square inscribed in circle Q.
Step 1: Label point R on circle .
Step 2: Draw a diameter through R and Q.
Step 3: Label the intersection on the circle point 7.

R

What is the next step in this construction?
A. Draw radius SO.

B. Label point S on circle Q.

C. Construct a line segment parallel to RT.

D. Construct the perpendicular bisector of RT.
[Key: D]
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A student used a compass and a straightedge to bisect 2 ABC in this figure

A,

B Q C

Which statement BEST describes point $?

A. Point S is located such that SC = PQ.
B. Point S is located such that SA = PQ.
C. Point S is located such that PS = BQ.
D. Point S is located such that @S = PS.
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3 Which geometric principle is used to justify the construction below?

Aline pespendicular o one of two paralellnesis perpendicular to the ther.
Two lines are perpendicular i they intrsectto form congruent adjacent angles.
‘When two lines are intersceted by a transversaland ahernat inerior angles are
congruen,the lins are parallel.

‘When two lines are interected by  transversal and the corresponding angles are
congrucat, the lines are parallel.




